

D. BEDOYA, M. ORTEGA, W. RAMÍREZ, A. URIELES

NEW BIPARAMETRIC FAMILIES OF APOSTOL-FROBENIUS-EULER POLYNOMIALS OF LEVEL m

D. Bedoya, M. Ortega, W. Ramírez, A. Urieles. *New biparametric families of Apostol-Frobenius-Euler polynomials of level m* , Mat. Stud. **55** (2021), 10–23.

We introduce two biparametric families of Apostol-Frobenius-Euler polynomials of level m . We give some algebraic properties, as well as some other identities which connect these polynomial class with the generalized λ -Stirling type numbers of the second kind, the generalized Apostol-Bernoulli polynomials, the generalized Apostol-Genocchi polynomials, the generalized Apostol-Euler polynomials and Jacobi polynomials. Finally, we will show the differential properties of this new family of polynomials.

1. Introduction. Throughout this paper, we use the following standard notions: $\mathbb{N} = \{1, 2, \dots\}$, $\mathbb{N}_0 = \{0, 1, 2, \dots\}$, and \mathbb{Z} , \mathbb{R} , \mathbb{C} denotes the set of integers numbers, the set of real numbers and the set of complex numbers, respectively. Furthermore, $(\lambda)_0 = 1$ and $(\lambda)_k = \lambda(\lambda + 1)(\lambda + 2) \dots (\lambda + k - 1)$, where $k \in \mathbb{N}$, $\lambda \in \mathbb{C}$. For the complex logarithm, we consider the principal branch, and $w = z^\alpha$ we denote the single branch of the a multiple-valued function $w = z^\alpha$ such that $1^\alpha = 1$. We take also $0^0 = 1$ and $0^n = 0$ if $n \in \mathbb{N}$.

The generating functions for the special polynomials are important from different view points and help in finding connection formulas, recursive relations, difference equations, and in solving problems in combinatorics and encoding their solutions. In particular, the Frobenius-Euler polynomials appear in the integral representation of differentiable periodic functions since they are employed for approximating such functions in terms of polynomials (see [10, 13, 16–20, 23]). Also, these polynomials play an important role in the number of theories and classical analysis. In this paper, we focus our attention on introducing two new biparametric class of Apostol-Frobenius-Euler polynomials of level m considering the works of [9, 14]. Then, we can prove that such a new polynomial class preserves some similar algebraic and differential properties as the generalized Apostol-type polynomials, that as an immediate consequence, we recover many known algebraic and differential properties of such polynomials.

For parameters $\lambda, u \in \mathbb{C}$ and $a, b, c \in \mathbb{R}^+$, with $a \neq b$, $b > 1$ and $a \geq 1$; the Apostol type Frobenius-Euler polynomials $H_n(x; \lambda; u)$, $n \geq 0$, and the generalized Apostol-type Frobenius-Euler polynomials $H_n^{(\alpha)}(x; a, b, c; \lambda; u)$, $n \geq 0$, are defined by means of the following generating functions (see [1, p. 2, Definition 2])

2010 *Mathematics Subject Classification*: 11B39, 11B68, 11B83, 05A19.

Keywords: generalized Apostol-type polynomials; Apostol-Frobenius-Euler polynomials; Apostol-Bernoulli polynomials of higher order; Apostol-Genocchi polynomials of higher order; generalized λ -Stirling numbers of second kind.

doi:10.30970/ms.55.1.10-23

$$\left(\frac{1-u}{\lambda e^z - u}\right) e^{xz} = \sum_{n=0}^{\infty} H_n(x; \lambda; u) \frac{z^n}{n!}, \quad |z| < |\ln(\lambda/u)|$$

and

$$\left(\frac{a^z - u}{\lambda b^z - u}\right)^\alpha c^{xz} = \sum_{n=0}^{\infty} H_n^{(\alpha)}(x; a, b, c; \lambda; u) \frac{z^n}{n!}, \quad |z| < \left| \frac{\ln(\lambda/u)}{\ln b} \right|. \quad (1)$$

Observe that if $x = 0$ and $\alpha = 1$ in (1), we get $\frac{a^z - u}{\lambda b^z - u} = \sum_{n=0}^{\infty} H_n(a, b, c; \lambda; u) \frac{z^n}{n!}$, where $H_n(a, b, c; u; \lambda)$ denotes the generalized Apostol-type Frobenius–Euler numbers (cf. [15]). It is well-known that $H_n^{(\alpha)}(x; u) := H_n^{(\alpha)}(x; 1, e, e; 1; u)$, $|z| < |\ln(u)|$, is the generalized Frobenius–Euler polynomial of order α , where $u \in \mathbb{C} \setminus \{1\}$ and $\alpha \in \mathbb{Z}$. Observe that $H_n^{(1)}(x; u) = H_n(x; u)$, denotes the classical Frobenius–Euler polynomials, $H_n^{(\alpha)}(0; u) = H_n^{(\alpha)}(u)$, denotes the Frobenius–Euler numbers of order α , and $H_n(x; -1) = E_n(x)$ denotes the Euler polynomials (see [3, 6, 11, 12, 24]).

For real parameters x and y the Taylor series representation in $z = 0$ of the following functions $e^{xz} \cos(yz)$ and $e^{xz} \sin(yz)$ are given by (see [7])

$$F_c(z; x; y) = e^{xz} \cos(yz) = \sum_{k=0}^{\infty} C_k(x, y) \frac{z^k}{k!}, \quad F_s(z; x; y) = e^{xz} \sin(yz) = \sum_{k=0}^{\infty} S_k(x, y) \frac{z^k}{k!}. \quad (2)$$

The expressions $C_k(x, y)$ and $S_k(x, y)$ are given by

$$C_k(x; y) = \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^j \binom{k}{2j} x^{k-2j} y^{2j}, \quad S_k(x; y) = \sum_{j=0}^{\lfloor \frac{k-1}{2} \rfloor} (-1)^j \binom{k}{2j+1} x^{k-2j-1} y^{2j+1}.$$

Now, let us give some properties of the generalized Apostol–type Frobenius–Euler polynomials and generalized Apostol–type Frobenius–Euler polynomials of order α with parameters λ, a, b, c (cf. [6, 8]).

Proposition 1. *Let $(H_n^{(\alpha)}(x; u))$ and $(H_n^{(\alpha)}(x; u; a, b, c; \lambda))$ be the sequences of generalized Apostol–type Frobenius–Euler polynomials and generalized Frobenius–Euler polynomials, respectively. The following statements hold: 1. (Special values) $H_n^{(0)}(x; u) = x^n$ for $n \in \mathbb{N}_0$.*

2. (Summation formulas) $H_n^{(\alpha)}(x; u; a, b, c; \lambda) = \sum_{k=0}^n \binom{n}{k} H_k^{(\alpha)}(x; u; a, b, c; \lambda) (x \ln c)^{n-k}$,

$$H_n^{(\alpha+\beta)}(x+y; u; a, b, c; \lambda) = \sum_{k=0}^n \binom{n}{k} H_k^{(\alpha)}(x; u; a, b, c; \lambda) H_{n-k}^{(\beta)}(y; u; a, b, c; \lambda),$$

$$((x+y) \ln c)^n = H_{n-k}^{(\alpha)}(y; u; a, b, c; \lambda) H_k^{(-\alpha)}(x; u; a, b, c; \lambda),$$

$$H_n^{(-\alpha)}(x; u^2; a^2, b^2, c^2; \lambda^2) = \sum_{k=0}^n \binom{n}{k} H_k^{(-\alpha)}(x; u; a, b, c; \lambda) H_{n-k}^{(-\alpha)}(x; -u; a, b, c; \lambda).$$

Consider $m \in \mathbb{N}$, $\alpha, \lambda, u \in \mathbb{C}$ and $a, c \in \mathbb{R}_+$. The generalized Apostol-type Frobenius–Euler polynomials of the variable x , parameters a, b, λ , order α and level m , are defined through the following generating function (see [14, p. 397, equation (3.1)])

$$\mathcal{F}^{[m-1, \alpha]}(z; x; a; c; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda c^z - u^m} \right]^\alpha c^{xz} = \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(x; a, c; \lambda; u) \frac{z^n}{n!}. \quad (3)$$

Let $a, b \in \mathbb{R}_+$, $\lambda \in \mathbb{C}$ and $\alpha \in \mathbb{N}_0$. The generalised λ -Stirling type numbers of the second kind $S(n, \alpha; a, b; \lambda)$ are defined by means of the following function (see [15, p. 3, equation (1)])

$$f_{S,\alpha}(z; a, b; \lambda) = \frac{(\lambda b^z - a^z)^\alpha}{\alpha!} = \sum_{n=0}^{\infty} S(n, \alpha; a, b; \lambda) \frac{z^n}{n!}. \quad (4)$$

The Jacobi polynomials of the degree n and order (α, β) , with $\alpha, \beta > -1$, the n -th Jacobi polynomial $P_n^{(\alpha, \beta)}(x)$ may be defined through Rodrigues' formula

$$P_n^{(\alpha, \beta)}(x) = (1-x)^{-\alpha}(1+x)^{-\beta} \frac{(-1)^n}{2^n n!} \frac{d^n}{dx^n} \left\{ (1-x)^{n+\alpha}(1+x)^{n+\beta} \right\}, \quad (5)$$

and the values at the end points of the interval $[-1, 1]$ is given by

$$P_n^{(\alpha, \beta)}(1) = \binom{n+\alpha}{n}, \quad P_n^{(\alpha, \beta)}(-1) = (-1)^n \binom{n+\beta}{n}.$$

The relationship between the n -th monomial x^n and the n -th Jacobi polynomial $P_n^{(\alpha, \beta)}(x)$ may be written as (see [14, p. 395, (21)])

$$x^n = n! \sum_{k=0}^n \binom{n+\alpha}{n-k} (-1)^k \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{n+1}} P_k^{(\alpha, \beta)}(1-2x). \quad (6)$$

Let $a, b, c \in \mathbb{R}_+$ ($a \neq b$) and $n \in \mathbb{N}_0$. Then the generalised Bernoulli polynomials $\mathcal{B}_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$ are defined for z , $|z| < \left| \frac{\ln(\lambda)}{\ln(a/b)} \right|$, $x \in \mathbb{R}$, by the following generating function (see [21, p. 254, (20)])

$$\mathcal{F}_{\mathcal{B}}^\alpha(z; x; a, b, c; \lambda; \alpha) = \left(\frac{z}{\lambda b^z - a^z} \right)^\alpha c^{xz} = \sum_{k=0}^{\infty} \mathcal{B}_k^{(\alpha)}(x; \lambda; a, b, c) \frac{z^k}{k!}. \quad (7)$$

Let $a, b, c \in \mathbb{R}_+$ ($a \neq b$) and $n \in \mathbb{N}_0$. Then the generalised Apostol–Euler polynomials $\mathcal{E}_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$ are defined for z , $|z| < \left| \frac{\ln(\lambda)}{\ln(a/b)} \right|$, $x \in \mathbb{R}$, by the following generating function (see [22, p. 254, (23)])

$$\mathcal{F}_{\mathcal{E}}^\alpha(z; x; a, b, c; \lambda; \alpha) = \left(\frac{2}{\lambda b^z + a^z} \right)^\alpha c^{xz} = \sum_{k=0}^{\infty} \mathcal{E}_k^{(\alpha)}(x; \lambda; a, b, c) \frac{z^k}{k!}. \quad (8)$$

Let $a, b, c \in \mathbb{R}_+$ ($a \neq b$) and $n \in \mathbb{N}_0$. Then the generalised Apostol–Genocchi polynomials $\mathcal{G}_n^{(\alpha)}(x; \lambda; a, b, c)$ of order $\alpha \in \mathbb{C}$ are defined for z , $|z| < \left| \frac{\ln(\lambda)}{\ln(a/b)} \right|$, $x \in \mathbb{R}$, by the following generating function (see [22, p. 300, (70)])

$$\mathcal{F}_{\mathcal{G}}^\alpha(z; x; a, b, c; \lambda; \alpha) = \left(\frac{2z}{\lambda b^z + a^z} \right)^\alpha c^{xz} = \sum_{k=0}^{\infty} \mathcal{G}_k^{(\alpha)}(x; \lambda; a, b, c) \frac{z^k}{k!}. \quad (9)$$

2. Biparametric families of the m -level Apostol-Frobenius-Euler polynomials $\mathcal{H}_{n,c}^{[m-1, \alpha]}(x; y; a; \lambda; u)$ and $\mathcal{H}_{n,s}^{[m-1, \alpha]}(x; y; a; \lambda; u)$. In view of the results in Section 1 and [9, 14] we are going to introduce two new of level m biparametric families of Apostol-Frobenius-Euler polynomials.

Definition 1. For $m \in \mathbb{N}$, $\alpha, \lambda, u \in \mathbb{C}$, $u^m \neq \lambda$ and $a \in \mathbb{R}_+$, the *generalized Apostol-type Frobenius–Euler polynomials* $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x, y; a; \lambda; u))$, $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x, y; a; \lambda; u))$ in the variable x and y , with parameters a, λ, u order α and level m , are defined for z , $|z| < |\ln(u^m/\lambda)|$, by the following generating functions:

$$\mathcal{F}_c^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{xz} \cos(yz) = \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x, y; a; \lambda; u) \frac{z^n}{n!}, \quad (10)$$

$$\mathcal{F}_s^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{xz} \sin(yz) = \sum_{n=0}^{\infty} \mathcal{H}_{n,s}^{[m-1,\alpha]}(x, y; a; \lambda; u) \frac{z^n}{n!}. \quad (11)$$

If in (10) $y = 0$, we obtain the generalized Apostol–Frobenius–Euler polynomials of parameters $\lambda, u \in \mathbb{C}$, $a \in \mathbb{R}_+$, order $\alpha \in \mathbb{C}$ and level m

$$\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; 0; a; \lambda; u) := \mathcal{H}_n^{[m-1,\alpha]}(x; a; \lambda; u).$$

According to Definition 1, with $m = 1$ and $y = 0$, we have

$$\mathcal{H}_{n,c}^{[0,\alpha]}(x; 0; 1; \lambda; u) = H_n^{(\alpha)}(x; \lambda; u), \quad \mathcal{H}_{n,c}^{[0,1]}(x; 0; 1; \lambda; u) = H_n^{(1)}(x; \lambda; u).$$

Theorem 1. Let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ and $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequences of biparametric Apostol-type Frobenius–Euler polynomials of order α and level m . Then for $m \in \mathbb{N}$ the following statements hold

1. For $\alpha, \lambda, u \in \mathbb{C}$ and $n \in \mathbb{N}_0$ $a \in \mathbb{R}_+$ we have the relationship

$$\mathcal{H}_n^{[m-1,\alpha]}(x + iy; a; \lambda; u) = \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) + i\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u). \quad (12)$$

2. (Addition theorem of the argument) For $\alpha, \lambda, u \in \mathbb{C}$ and $n, k \in \mathbb{N}_0$ $a \in \mathbb{R}_+$,

$$\mathcal{H}_{n,c}^{[m-1,\alpha]}(x + y; y; a; \lambda; u) = \sum_{k=0}^n \binom{n}{k} \mathcal{H}_{n-k,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) y^k, \quad (13)$$

$$\mathcal{H}_{n,s}^{[m-1,\alpha]}(x + y; y; a; \lambda; u) = \sum_{k=0}^n \binom{n}{k} \mathcal{H}_{n-k,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) y^k, \quad (14)$$

$$\begin{aligned} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; x + iy, a; \lambda; u) &= \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2k} \mathcal{H}_{n-2k,c}^{[m-1,\alpha]}(x; x; a; \lambda; u) y^{2k} - \\ &\quad - i \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2k+1} \mathcal{H}_{n-1-2k,s}^{[m-1,\alpha]}(x; x; a; \lambda; u) y^{2k+1}, \end{aligned} \quad (15)$$

$$\begin{aligned} \mathcal{H}_{n,s}^{[m-1,\alpha]}(x; x + iy, a; \lambda; u) &= \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2k} \mathcal{H}_{n-2k,s}^{[m-1,\alpha]}(x; x; a; \lambda; u) y^{2k} - \\ &\quad - i \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2k+1} \mathcal{H}_{n-1-2k,c}^{[m-1,\alpha]}(x; x; a; \lambda; u) y^{2k+1}. \end{aligned} \quad (16)$$

Proof of (12). From (10), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(x + iy, a; \lambda; u) \frac{z^n}{n!} &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{(x+iy)z} = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha \times \\ &\times e^{xz} [\cos(yz) + i \sin(yz)] = \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} + i \sum_{n=0}^{\infty} \mathcal{H}_{n,s}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

Proof of (1). Since $\cos((x + iy)z) = \cos(xz) \cosh(yz) - i \sin(xz) \sinh(yz)$, we successively obtain

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(x; x + iy; a; \lambda; u) \frac{z^n}{n!} &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{xz} \cos((x + iy)z) = \\ &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{xz} \cos(xz) \cosh(yz) - \\ &- i \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{\lambda e^z - u^m} \right]^\alpha e^{xz} \sin(xz) \sinh(yz) = \\ &= \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1, \alpha]}(x; x; a; \lambda; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \frac{y^{2n} z^{2n}}{2n!} - i \sum_{n=0}^{\infty} \mathcal{H}_{n,s}^{[m-1, \alpha]}(x; x; a; \lambda; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \frac{y^{2n+1} z^{2n+1}}{(2n+1)!} = \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{2k} \mathcal{H}_{n-2k,c}^{[m-1, \alpha]}(x; x; a; \lambda; u) y^{2k} \frac{z^n}{n!} - \\ &- i \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \binom{n}{2k+1} \mathcal{H}_{n-1-2k,s}^{[m-1, \alpha]}(x; x; a; \lambda; u) y^{2k+1} \frac{z^n}{n!}. \end{aligned}$$

□

Theorem 2. For $m \in \mathbb{N}$, let $(\mathcal{H}_{n,c}^{[m-1, \alpha]}(x; y; a; \lambda; u))$ and $(\mathcal{H}_{n,s}^{[m-1, \alpha]}(x; y; a; \lambda; u))$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of the order $\alpha \in \mathbb{N}_0$ and level m . Then the following statements hold

$$\sum_{k=0}^n \binom{n}{k} C_k(x; y) \mathcal{H}_{n-k}^{[m-1, \alpha]}(0; a; 0; u) = (-1)^\alpha \alpha! \sum_{k=0}^n \binom{n}{k} S(n-k, \alpha, 1, e; \frac{\lambda}{u^m}) \mathcal{H}_{k,c}^{[m-1, \alpha]}(x; y; a; \lambda; u), \quad (17)$$

$$\sum_{k=0}^n \binom{n}{k} S_k(x; y) \mathcal{H}_{n-k}^{[m-1, \alpha]}(0; a; 0; u) = (-1)^\alpha \alpha! \sum_{k=0}^n \binom{n}{k} S(n-k, \alpha, 1, e; \frac{\lambda}{u^m}) \mathcal{H}_{k,s}^{[m-1, \alpha]}(x; y; a; \lambda; u).$$

Proof of (17). From (2), (4) and (10) we obtain the following equality

$$u^{m\alpha} \alpha! f_{S,\alpha} \left(z; 1; e; \frac{\lambda}{u^m} \right) \mathcal{F}_c^{[m-1, \alpha]}(z; x; y; a; \lambda; u) = \left[\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m \right]^\alpha F_c(z; x; y).$$

Hence

$$\begin{aligned} & \frac{(-1)^\alpha}{(-1)^\alpha} \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{u^m} \right]^\alpha \sum_{n=0}^{\infty} C_n(x; y) \frac{z^n}{n!} = \\ & = \alpha! \sum_{n=0}^{\infty} S \left(n, \alpha, 1, e; \frac{\lambda}{u^m} \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a, b; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

Then

$$\begin{aligned} & (-1)^\alpha \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,\alpha]}(0; a; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} C_n(x; y) \frac{z^n}{n!} = \\ & = \alpha! \sum_{n=0}^{\infty} S \left(n, \alpha, 1, e; \frac{\lambda}{u^m} \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!}, \\ & \quad \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} C_k(x; y) \mathcal{H}_{n-k}^{[m-1,\alpha]}(0; a; 0; u) \frac{z^n}{n!} = \\ & = (-1)^{-\alpha} \alpha! \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} S \left(n-k, \alpha, 1, e; \frac{\lambda}{u^m} \right) \mathcal{H}_{k,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

The proof of the second equality from Theorem 2 it is analogously. \square

Theorem 3. For $m \in \mathbb{N}$, let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ and $\{\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a, b; \lambda; u)\}$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then the following statements hold

$$\mathcal{H}_{n,s}^{[m-1,\alpha+\beta]}(2x; 2y; a; \lambda; u) = 2 \sum_{k=0}^n \binom{n}{k} \mathcal{H}_{n-k,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \mathcal{H}_{k,s}^{[m-1,\beta]}(x; y; a; \lambda; u). \quad (18)$$

Proof. The following equality is constructed from (10) and (11)

$$\mathcal{F}_s^{[m-1,\alpha+\beta]}(z; 2x; 2y; a; \lambda; u) = 2\mathcal{F}_c^{[m-1,\alpha]}(z; x; y; a; \lambda; u) \mathcal{F}_s^{[m-1,\beta]}(z; x; y; a; \lambda; u).$$

Therefore

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{H}_{n,s}^{[m-1,\alpha+\beta]}(2x; 2y; a; \lambda; u) \frac{z^n}{n!} &= 2 \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,s}^{[m-1,\beta]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ &= 2 \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} \mathcal{H}_{n-k,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \mathcal{H}_{k,s}^{[m-1,\beta]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

\square

Theorem 4. For $m \in \mathbb{N}$, let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ and $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then the following statements hold

$$\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{H}_{n-2k}^{[m-1,\alpha]}(x; a; \lambda; u) y^{2k}. \quad (19)$$

$$\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \binom{n}{2k+1} \mathcal{H}_{n-1-2k}^{[m-1,\alpha]}(x; a; \lambda; u) y^{2k+1}. \quad (20)$$

Proof of (19). The following equality follows from (3) and (10).

$$\mathcal{F}_c^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \mathcal{F}^{[m-1,\alpha]}(z; x; a; \lambda; u) \cos(yz).$$

Thus

$$\sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,\alpha]}(x; a; \lambda; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!}.$$

Hence

$$\sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \binom{n}{2k} \mathcal{H}_{n-2k}^{[m-1,\alpha]}(x; a; \lambda; u) y^{2k} \frac{z^n}{n!}.$$

The proof of (20) is analogous to (19), using the fact that

$$\mathcal{F}_s^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \mathcal{F}^{[m-1,\alpha]}(z; x; a, e; \lambda; u) \sin(yz)$$

from the relationships given in (3) and (11). \square

Theorem 5. For $m \in \mathbb{N}$ the biparametric Apostol-type Frobenius–Euler polynomials $\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y, a; \lambda; u)$, $\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u)$ of level m are related to the generalized Apostol-Bernoulli polynomials $\mathcal{B}_n^{(\alpha)}(x; \lambda; a, c)$ by means of the following identities

$$\begin{aligned} \mathcal{H}_{n-\alpha,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) &= \\ &= \frac{(-1)^\alpha}{\alpha! \binom{n}{\alpha}} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1,\alpha]}(0; a; 0; u) \mathcal{B}_{j-2k}^{(\alpha)}\left(x; \frac{\lambda}{u^m}; a, e\right) y^{2k}. \end{aligned} \quad (21)$$

$$\begin{aligned} \mathcal{H}_{n-\alpha,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) &= \\ &= \frac{(-1)^\alpha}{\alpha! \binom{n}{\alpha}} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j-1}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k+1} \mathcal{H}_{n-j}^{[m-1,\alpha]}(0; a; 0; u) \mathcal{B}_{j-1-2k}^{(\alpha)}\left(x; \frac{\lambda}{u^m}; a, e\right) y^{2k+1}. \end{aligned} \quad (22)$$

Proof of (21). The following equality follows from (3), (7) and (10)

$$\mathcal{F}_c^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{zu^m} \right]^\alpha \mathcal{F}_B^\alpha\left(z; x; 1, e, e; \frac{\lambda}{u^m}; \alpha\right) \cos(yz).$$

Thus, we have

$$\begin{aligned} & z^\alpha \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{u^m} \right]^\alpha \sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)}\left(x; \frac{\lambda}{u^m}, a, e, e\right) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!}, \\ & z^\alpha \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \end{aligned}$$

$$\begin{aligned}
&= (-1)^\alpha \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-u^m} \right]^\alpha \sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)} \left(x; \frac{\lambda}{u^m}, a, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!}, \\
&\quad \sum_{n=0}^{\infty} \binom{n}{\alpha} \alpha! \mathcal{H}_{n-\alpha, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\
&= (-1)^\alpha \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(0; a, e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)} \left(x; \frac{\lambda}{u^m}, a, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!}, \\
&\quad \sum_{n=0}^{\infty} \binom{n}{\alpha} \alpha! \mathcal{H}_{n-\alpha, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\
&= (-1)^\alpha \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{B}_{j-2k}^{(\alpha)} \left(x; \frac{\lambda}{u^m}, a, e, e \right) y^{2k} \frac{z^n}{n!}.
\end{aligned}$$

The proof of (22) is similar to that of (21), using the fact that

$$\mathcal{F}_s^{[m-1, \alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{zu^m} \right]^\alpha \mathcal{F}_B^\alpha(z; x; 1, e, e; \frac{\lambda}{u^m}; \alpha) \sin(yz).$$

□

Theorem 6. For $m \in \mathbb{N}$ the biparametric Apostol-type Frobenius–Euler polynomials of level m $\mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a; \lambda; u)$ and $\mathcal{H}_{n, s}^{[m-1, \alpha]}(x; y; a; \lambda; u)$ are related to the generalized Apostol-Genocchi polynomials $\mathcal{G}_n^{(\alpha)}(x; \lambda; a, b, c)$ by means of the following identities

$$\mathcal{H}_{n-\alpha, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) = \tag{23}$$

$$= 2^{-\alpha} \frac{1}{\alpha! \binom{n}{\alpha}} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{G}_{j-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}; a, e, e \right) y^{2k},$$

$$\mathcal{H}_{n-\alpha, s}^{[m-1, \alpha]}(x; y; a; \lambda; u) = \tag{24}$$

$$= 2^{-\alpha} \frac{1}{\alpha! \binom{n}{\alpha}} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j-1}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k+1} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{G}_{j-1-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}; a, e, e \right) y^{2k+1}.$$

Proof of (23). Equalities (3), (9) and (10) imply the following equalities

$$\begin{aligned}
\mathcal{F}_c^{[m-1, \alpha]}(z; x; y; a; \lambda; u) &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-2u^m z} \right]^\alpha \mathcal{F}_G^\alpha \left(z; x; 1, e, e; -\frac{\lambda}{u^m}; \alpha \right) \cos(yz), \\
&= 2^\alpha z^\alpha \sum_{n=0}^{\infty} \mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\
&= \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(0; a; e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{G}_n^{(\alpha)} \left(x; -\frac{\lambda}{u^m}, a, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!},
\end{aligned}$$

$$\begin{aligned} & \sum_{n=0}^{\infty} \binom{n}{\alpha} \alpha! \mathcal{H}_{n-\alpha, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ & = (2)^{-\alpha} \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{G}_{j-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}, a, e, e \right) y^{2k} \frac{z^n}{n!}. \end{aligned}$$

The proof of (23) is similar to that of (24), using the fact that

$$\mathcal{F}_s^{[m-1, \alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-2u^m z} \right]^{\alpha} \mathcal{F}_{\mathcal{G}}^{\alpha}(z; x; 1, e, e; \frac{\lambda}{u^m}; \alpha) \sin(yz).$$

□

Theorem 7. For $m \in \mathbb{N}$ the biparametric Apostol-type Frobenius–Euler polynomials of level m $\mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a; \lambda; u)$ and $\mathcal{H}_{n, s}^{[m-1, \alpha]}(x; y; a; \lambda; u)$ are related with the generalized Apostol–Euler polynomials $\mathcal{E}_n^{(\alpha)}(x; \lambda; a, b, c)$ by means of the following identities

$$\mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) = \tag{25}$$

$$= 2^{-\alpha} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{E}_{j-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}; a, e, e \right) y^{2k},$$

$$\mathcal{H}_{n, s}^{[m-1, \alpha]}(x; y; a; \lambda; u) = \tag{26}$$

$$= 2^{-\alpha} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j-1}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k+1} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{E}_{j-1-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}; a, e, e \right) y^{2k+1}.$$

Proof of (25). The following equalities follow from (3), (8) and (10)

$$\begin{aligned} \mathcal{F}_c^{[m-1, \alpha]}(z; x; y; a; \lambda; u) &= \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-2u^m} \right]^{\alpha} \mathcal{F}_{\mathcal{E}}^{\alpha} \left(z; x; 1, e, e; -\frac{\lambda}{u^m}; \alpha \right) \cos(yz), \\ &= 2^{\alpha} \sum_{n=0}^{\infty} \mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a, e; \lambda; u) \frac{z^n}{n!} = \\ &= \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1, \alpha]}(0; a; e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{E}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}, a, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n} z^{2n}}{(2n)!}, \\ &= \sum_{n=0}^{\infty} \mathcal{H}_{n, c}^{[m-1, \alpha]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ &= (2)^{-\alpha} \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{k=0}^{\lfloor \frac{j}{2} \rfloor} (-1)^k \binom{n}{j} \binom{j}{2k} \mathcal{H}_{n-j}^{[m-1, \alpha]}(0; a; e; 0; u) \mathcal{E}_{j-2k}^{(\alpha)} \left(x; -\frac{\lambda}{u^m}, a, e, e \right) y^{2k} \frac{z^n}{n!}. \end{aligned}$$

The proof of (26) is similar to that of (25) in view of the equality

$$\mathcal{F}_s^{[m-1,\alpha]}(z; x; y; a; \lambda; u) = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-2u^m} \right]^\alpha \mathcal{F}_\mathcal{E}^\alpha(z; x; 1, e, e; \frac{\lambda}{u^m}; \alpha) \sin(yz). \quad \square$$

Theorem 8. For $m \in \mathbb{N}$ the generalized Apostol-type Frobenius–Euler polynomials $\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u)$ and $\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u)$ of level m are related to the Jacobi polynomials $P_n^{(\alpha,\beta)}(y)$ by means of the identities

$$\begin{aligned} & \mathcal{H}_{n,c}^{[m-1,\alpha]}(x+y; y; a; \lambda; u) = \tag{27} \\ & = \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j+\alpha}{j-k} \binom{n}{j} \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{j+1}} \mathcal{H}_{n-j,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) P_k^{(\alpha,\beta)}(1-2y), \end{aligned}$$

$$\begin{aligned} & \mathcal{H}_{n,s}^{[m-1,\alpha]}(x+y; y; a; \lambda; u) = \tag{28} \\ & = \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \binom{j+\alpha}{j-k} \binom{n}{j} \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{j+1}} \mathcal{H}_{n-j,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) P_k^{(\alpha,\beta)}(1-2y). \end{aligned}$$

Proof. By substituting (6) into the right-hand side of (13) and using appropriate binomial coefficient identities (see, for instance [2, 4, 5]), we have

$$\begin{aligned} & \mathcal{H}_{n,c}^{[m-1,\alpha]}(x+y; y; a, b; \lambda; u) = \sum_{j=0}^n \binom{n}{j} \mathcal{H}_{j,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) (n-j)! (\ln c)^{n-j} \times \\ & \times \sum_{k=0}^{n-j} (-1)^k \binom{n-j+\alpha}{n-j-k} \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{n-j+1}} P_k^{(\alpha,\beta)}(1-2y) = \sum_{j=0}^n \sum_{k=0}^{n-j} (-1)^k \binom{n}{j} (n-j)! \times \\ & \times \mathcal{H}_{j,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) (\ln c)^{n-j} \binom{n-j+\alpha}{n-j-k} \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{n-j+1}} P_k^{(\alpha,\beta)}(1-2y) = \\ & = \sum_{k=0}^n (-1)^k \sum_{j=0}^{n-k} \binom{n}{j} \binom{n-j+\alpha}{n-j-k} \mathcal{H}_{j,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) (n-j)! (\ln c)^{n-j} \times \\ & \times \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{n-j+1}} P_k^{(\alpha,\beta)}(1-2y) = \sum_{k=0}^n (-1)^k \sum_{j=k}^n j! (\ln c)^j \times \\ & \times \binom{j+\alpha}{j-k} \binom{n}{j} \frac{(1+\alpha+\beta+2k)}{(1+\alpha+\beta+k)_{j+1}} \mathcal{H}_{n-j,c}^{[m-1,\alpha]}(x; y; a, b; \lambda; u) P_k^{(\alpha,\beta)}(1-2y). \end{aligned}$$

Therefore, (27) holds. The proof (28) is similar. \square

3. Partial Derivative biparametric Apostol–Frobenius–Euler polynomials $\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u)$ and $\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u)$. In this section, by applying partial derivative operator to equations (10) and (11), we give some derivative formulae and finite combinatorial sums for the two biparametric Apostol–Frobenius–Euler polynomials.

Theorem 9. Let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ and $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then for $n, m, k \in \mathbb{N}$ the following identities hold

$$\frac{\partial^k}{\partial x^k} \{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \} =$$

$$= (-1)^k \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \quad (29)$$

$$\begin{aligned} & \frac{\partial^k}{\partial x^k} \left\{ \mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) \right\} = \\ & = (-1)^k \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a; e; 0; u) \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u). \quad (30) \end{aligned}$$

Proof. Differentiating (10) with respect to x , we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{\partial^k}{\partial x^k} \left\{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \right\} \frac{z^n}{n!} = \\ & = (-1)^k \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-u^m} \right]^k \sum_{n=0}^{\infty} \mathcal{B}_n^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

Therefore,

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{\partial^k}{\partial x^k} \left\{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \right\} \frac{z^n}{n!} = \\ & = (-1)^k \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,k]}(0; a, e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{B}_n^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ & = (-1)^k \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,k]}(0; a, e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{n-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ & = (-1)^k \sum_{n=0}^{\infty} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_r^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

By uniqueness of the series we obtain the first statement of Theorem 9. The proof of (30) is similar. \square

Theorem 10. Let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ and $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequences of biparametric Apostol-type Frobenius–Euler polynomials with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$ of order $\alpha \in \mathbb{C}$ and level m . Then for $n, m, k \in \mathbb{N}$ the following identities hold

$$\begin{aligned} & \frac{\partial^k}{\partial x^k} \left\{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \right\} = \quad (31) \\ & = \left(\frac{1}{2}\right)^k \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \end{aligned}$$

$$\begin{aligned} & \frac{\partial^k}{\partial x^k} \left\{ \mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) \right\} = \quad (32) \\ & = \left(\frac{1}{2}\right)^k \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u). \end{aligned}$$

Proof. Applying derivate in (10) on x , we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{\partial^k}{\partial x^k} \{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \} \frac{z^n}{n!} = \\ & = \left[\frac{\sum_{h=0}^{m-1} \frac{(z \ln a)^h}{h!} - u^m}{-2u^m} \right]^k \sum_{n=0}^{\infty} \mathcal{G}_n^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

Therefore,

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{\partial^k}{\partial x^k} \{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \} \frac{z^n}{n!} = \\ & = \frac{1}{2^k} \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,k]}(0; a, e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{G}_n^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \frac{z^n}{n!} \sum_{n=0}^{\infty} \mathcal{H}_{n,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ & = \frac{1}{2^k} \sum_{n=0}^{\infty} \mathcal{H}_n^{[m-1,k]}(0; a, e; 0; u) \frac{z^n}{n!} \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} \mathcal{G}_j^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \mathcal{H}_{n-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!} = \\ & = \frac{1}{2^k} \sum_{n=0}^{\infty} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_r^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) \frac{z^n}{n!}. \end{aligned}$$

By uniqueness of the series, the first statement of Theorem 10 is proved. The proof of (32) is similar. \square

The following Theorem 11 can be proved similarly to Theorem 10.

Theorem 11. Let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$, $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequences of biparametric Apostol-type Frobenius–Euler polynomials with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then for $n, m, k \in \mathbb{N}$, $n > k$ the following identities hold:

$$\begin{aligned} & \frac{\partial^k}{\partial x^k} \{ \mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u) \} = \left(\frac{1}{2} \right)^k k! \binom{n}{k} \times \\ & \times \sum_{r=0}^n \sum_{j=0}^r \binom{n-k}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_r^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \mathcal{H}_{r-k-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \end{aligned} \quad (33)$$

$$\begin{aligned} & \frac{\partial^k}{\partial x^k} \{ \mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u) \} = \left(\frac{1}{2} \right)^k k! \binom{n}{k} \times \\ & \times \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-L}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_j^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \mathcal{H}_{r-k-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u). \end{aligned} \quad (34)$$

Combining (29) and (31) with (33), we obtain the statement of Theorem 12.

Theorem 12. Let $(\mathcal{H}_{n,c}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then for $n, m, k \in \mathbb{N}$, $n > k$ the following identities hold:

$$\begin{aligned} & \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_j^{(k)} \left(\frac{\lambda}{u^m}; 1, e, e \right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\ & = \frac{1}{(-2)^k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^{(k)} \left(\frac{\lambda}{-u^m}; 1, e, e \right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \end{aligned}$$

$$\begin{aligned}
& \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\
&= \frac{k!}{(-2)^k} \binom{n}{k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-k-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \\
& \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\
&= k! \binom{n}{k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-k-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u).
\end{aligned}$$

Combining (30) and (32) with (34), we obtain the statement of Theorem 13.

Theorem 13. Let $(\mathcal{H}_{n,s}^{[m-1,\alpha]}(x; y; a; \lambda; u))$ be the sequence of biparametric Apostol-type Frobenius–Euler polynomials, with parameters $\lambda, u \in \mathbb{C}$ and $a \in \mathbb{R}_+$, of order $\alpha \in \mathbb{C}$ and level m . Then for $n, m, k \in \mathbb{N}$, $n > k$ the following identities hold:

$$\begin{aligned}
& \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,c}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\
&= \frac{1}{(-2)^k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \\
& \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{B}_j^{(k)}\left(\frac{\lambda}{u^m}; 1, e, e\right) \mathcal{H}_{r-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\
&= \frac{k!}{(-2)^k} \binom{n}{k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_j^{(k)}\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-k-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u), \\
& \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{G}_j^k\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u) = \\
&= k! \binom{n}{k} \sum_{r=0}^n \sum_{j=0}^r \binom{n}{r} \binom{r}{j} \mathcal{H}_{n-r}^{[m-1,k]}(0; a, e; 0; u) \mathcal{E}_j^k\left(\frac{\lambda}{-u^m}; 1, e, e\right) \mathcal{H}_{r-k-j,s}^{[m-1,\alpha-k]}(x; y; a; \lambda; u).
\end{aligned}$$

REFERENCES

1. Araci S., Acikgoz M., Construction of Fourier expansion of Apostol-Frobenius-Euler polynomials and its applications, *Adv. Difference Equ.*, 2018.
2. Askey R., Orthogonal polynomials and special functions, *Regional Conference Series in Applied Mathematics*, SIAM. J. W. Arrowsmith Ltd., Bristol 3, England, 1975.
3. Carlitz L., *Eulerian numbers and polynomials*, *Math. Mag.*, **32** (1959), 247–260.
4. Comtet L., *Advanced combinatorics: the art of finite and infinite expansions*, Reidel, Dordrecht and Boston, 1974.
5. Graham R.L., Knuth D.E., Patashnik O., *Concrete Mathematics*, Addison-Wesley Publishing Company, Inc., New York, 1994.
6. Kurt B., Simsek Y., *On the generalized Apostol-type Frobenius-Euler polynomials*, *Adv. Difference Equ.*, **1** (2013).

7. Masjed-Jamei M., Koepf W., *Symbolic computation of some power-trigonometric series*, J. Symbolic Comput., **80** (2017), 273–284.
8. Natalini P., Bernardini A., *A generalization of the Bernoulli polynomials*, J. Appl. Math., **3** (2003), 155–163.
9. Kilar N., Simsek Y., *Two parametric kinds of Eulerian-type polynomials associated with Eulers formula*, Symmetry, **11** (2019), 1–19.
10. Quintana Y., Ramírez W., Urieles A., *On an operational matrix method based on generalized Bernoulli polynomials of level m* , Calcolo, **53** (2018).
11. Quintana Y., Ramírez W., Urieles G., *Generalized Apostol-type polynomial matrix and its algebraic properties*, Math. Repor., **2**, (2019), №2.
12. Quintana Y., Ramírez W., Urieles A., *Euler matrices and their algebraic properties revisited*, Appl. Math. Inf. Sci., **14**, (2020), №4, 583–596.
13. Ramírez W., Castilla L., Urieles A., *An extended generalized q -extensions for the Apostol type polynomials*, Abstr. Appl. Anal., 2018, Article ID 2937950, DOI: 10.1155/2018/2937950.
14. Ortega M., Ramirez W., Urieles A., *New generalized Apostol–Frobenius-Euler polynomials and their matrix approach*, Kragujevac. Journal. of Mathematics, **45** (2021), 393–407.
15. Simsek Y., *Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their application*, Fixed point Theory and Applications, **87** (2013).
16. Y. Simsek, *q -Analogue of twisted l -series and q -twisted Euler numbers*, Journal of Number Theory, **110** (2005), 267–278.
17. Y. Simsek, *Generating functions for q -Apostol type Frobenius–Euler numbers and polynomials*, Axioms, **1** (2012), 395–403; doi:10.3390/axioms1030395.
18. Y. Simsek, O. Yurekli, V. Kurt, *On interpolation functions of the twisted generalized Frobenius–Euler numbers*, Advanced Studies in Contemporary Math., **15** (2007), №2, 187–194.
19. Y. Simsek, T. Kim, H.M. Srivastava, *q -Bernoulli numbers and polynomials associated with multiple q -zeta functions and basic L -series*, Russ. J. Math. Phys., **12** (2005), №2, 241–268.
20. Y. Simsek, T. Kim, D.W. Park, Y.S. Ro, L.C. Jang, S.H. Rim, *An explicit formula for the multiple Frobenius-Euler numbers and polynomials*, JP J. Algebra Number Theory Appl., **4** (2004), №3, 519–529.
21. Srivastava H.M., Garg M., Choudhary S., *A new generalization of the Bernoulli and related polynomials*, Russian J. of Math. Phys., **17**, (2010), 251–261.
22. Srivastava H.M., Garg M., Choudhary S., *Some new families of generalized Euler and Genocchi polynomials*, Taiwanese J. Math., **15** (2011), №1, 283–305.
23. Urieles A., Ortega M., Ramirez W., Veg S., *New results on the q -generalized Bernoulli polynomials of level m* , Demonstratio Mathematica, **52** (2019), 511–522.
24. Urieles A., Ramírez W., Ortega M.J., et al., *Fourier expansion and integral representation generalized Apostol-type Frobenius-Euler polynomials*, Adv. Differ. Equ., **534** (2020), <https://doi.org/10.1186/s13662-020-02988-0>.

Departamento de Ciencias Básicas, Universidad Metropolitana
Barranquilla, Colombia
dbedoya@unimetro.edu.co

Departamento de Ciencias Naturales y Exactas, Universidad de la Costa
Barranquilla, Colombia
mortega22@cuc.edu.co; wramirez4@cuc.edu.co

Facultad de Ciencias Básicas. Programa de Matemáticas, Universidad del Atlántico
Barranquilla, Colombia
alejandrourieles@mail.uniatlantico.edu.co

Received 07.05.2020

Revised 27.10.2020